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' MBA (B) DEG_REE_ 1V SEMESTER EXAMINATION MAY 2016 -

SMI 2409 WORKING CAPITAL M_ANAGEMENT

(Regu!ar)
. Time: 3H.0ufs . _' ) o - L o - Maxin'_imn.Marksﬁ 50_
 PARTA ) |
(Answer ALL questions)
| R (5x2=10)
1. : Dlstmgulsh between Gross. Workmg Capltal (GWC) and Net Workmg Capltal n
_ (NWC). How do you compute NWC for a manufacturing company'7 o :

2. Enumerate major sources Fon ﬁnancmg the worklng requlrements of a

o manufacturmg CORCErN. : :

3. ‘Briefly discuss the Baumol Moclel and lts 51gmf‘ icance in workmg capltal_

. management, © : .
4 Bneﬂy discuss the motives for holdmg cash. : _
5. Briefly discuss the methods FSN and VED in thc context of matenais_-" L
© . management. . : -
: PART B
(AnswerANY FI VE questlons) - .
(5x 4 =20)
‘6. - Discuss the dlfferent kinds of worklng capltaI Whether the sources of workmg
o capltal should be correlated with the nature or kmd of workmg capita!‘?
7. Explain the concept of operating cycle with the help of a block dlagram Gwe '
an illustration too. : _
8. * Discuss the 51gn1ﬁcance of cash budgetmg and ﬁndmg the optlmum level of
- cash balances .

90 EXplam the ‘5 Cs’ of credit.

0. Dlscuss the bcncf’ ts and costs of holding 11wentor1es
1L Discuss mar gma! analy31s and Heuristic approach in the context of recewables

© - management. .
12, Explain - discriminant ana]y51s and sequentlal declslon analy315 used in

' recewables management.
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' PARTC
_'(Answer ANY TWO questions)

- Explain the signiﬂc'ance of working capital management. Discuss the

repercussions of (1) paucity of working capital, (ii) excess of working capital.

What are the limitations observed in inventory management in the Indian

éonte_xt? Suggest your strategies for improving the present scenario.

 The details of XYZ Company’_s-product, costs, stock and plans, liabilities are as
- follows: o ' - S
- Activity level: XYZ produces 10,000 units of produict X in a period of four

weeks. There is no opéning stock for the product. Cost structure of product X

. js'as follows:’ (i) Raw ‘material = 75 per unit (i5) Labour cost =360 per unit
. (iii) Variable overheads = %25 per unit (iv) fixed overheads = ¥16,00,000 (for

4 weeks period)and (v) selling price =500 per unit.

Levels of stock plannéd: (i) ‘Raw materials:2 ‘weeks consumﬁtidn (iij Work-
“in-progress:4 weeks (iii) Finished goods; 2 weeks® supply (iv) Debtors settle

the bills six weeks after supply :

" Curreqt liabilities structure: (i) Raw materials paid for at the end of the month -

in which delivery is made.(ii} Expense creditors allow an average of six weeks

" credit. : -

You are required to estimate the level of working capital needed for the year.
You may assume 48 weeks in a year and 4 weeks in a month for computation
purposes. - o '
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